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A/59/PV.6

<9"-Z,H3& ó 6,8&?98,7%.1 7"&<," 57959*%953&
!"#$%&'$(&& !*+,-&%,%%./ 0$(&1 369"&34 -9*"9.

!-%$?9 58,-C,3 3$?B, 959*9 93<,3&34 39 6%&-
<$%&,, ?939"9, !"#$%&'$(&) !*+,-&%,%%./ 0$(&1
C-,8),3 7989B,%&= C)'6&<./ #"C77 %$5,8,%&), -,-
3)< & &%6$8&-$<, $ 3$?B, "$6%97"$6&= <CB;&% &
B,%A&%. Q8) %$H,1 !"#$%&'$(&& ;,896,;,5369 %,
)68),35) $*53"$?3%.< 79%)3&,<. Q&$89# <,B-C

$
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A/59/PV.6

]-,54 653$=3 6$B%., 697"95.: ;39 97"$6-.6$-
,3 C7",B-$=A,, %$7$-,%&,? O$?$) 53"$%$ &8&
53"$%. 7",-53$68)=3 -953$39;%9 5,"4,'%C= C#"9'C
-8) 39#9, ;39*. 79'698&34 5,*, 7913& %$ 3$?91
"&5?? 29;,<C %$7$-,%&= 79-6,"#$,35) 9-%$ 53"$%$,
$ %, -"C#$), 
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A/59/PV.6

8) ó 79-7",B%,<C )68)=35) #8$6$<& %$H,#9 #95C-
-$"536$ 6 8&;%9<, 596<,53%9< & %,-,8&<9< ?$;,53-
6,. K539"&) F%-9"". %$ 7"93)B,%&& <%9#&/ 6,?96
)68),35) 79&53&%, ",'C843$39< C<,89#9 & 79539)%-
%9#9 53",<8,%&) 6,53& 7,",#969". <,B-C %$H&<
%$"9-9< & %$H&<& 




